
A

A AA A

B

BB

BB

C

CC

CC

C C

D

D D

E

F

F

F

F

F

G

G G

E E E E

 = M3x20mm standoff + M3 x 10/countersunk screw (4 off) 

external view of 300BSEi to show location of standoffs, standoff screws 
and grommets

a useful tool for fitting the front plate

key

 = M3x20mm standoff + M3 x 10/countersunk screw (4 off) 300BSEi only

 = M3x20mm standoff + M3 x 12 black pozi-drive screw (6 off)

 = M3x25mm standoff + M3 x 12 black pozi-drive screw (2 off)

 = M3x15mm standoff + M3 x 12 black pozi-drive screw (4 off)

 = large grommet (4 off)

 = small grommet (2 off)

page 6


	Page 1

